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An average boat holds thirty Kur — 371> 3°nn N2 7980 2NY

OVERVIEW

The Xn721 taught that if one added an additional 712 on a 711°90, the renter is liable.
x99 17 derived from this Xn*12 that an average n1°90 can carry thirty 113." Our
Moo reconciles our X3 with a seemingly contradictory &723.
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It seems that the addition necessary to hold the 7272 liable is one thirtieth more
than it can normally carry. Therefore, since our ;73w requires an addition of a IN®
for a camel (for the 72 to be liable), it seems that the regular load of a camel is
a M2 (which is thirty 7x0).

nooIN asks:
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And the 2''2%% has a difficulty, for snpT»n 7929 29 stated in PRwnIY S» P9,
relating an unusual incident -
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‘I saw this Arab merchant who fed his camel one 91> and loaded upon her one

912 (this was an unusual sight) -
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This indicates that other (normal) camels cannot bear so much weight, only

that camel, which was an unusual one, could bear such weight, and from our X723 it
seems that a 93 ono can carry a !

N1v0IN answers:
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And one can say, as "' explained there that he loaded her with a 71> of food

for the duration of that trip, besides the rest of the load (which was [presumably]

much more than a 712).
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And it also seems so, that it is necessary to explain that X3 as *"w1 explains it
(even without the contradiction with our X723), for it is not feasible that one

! This follows the rule (mentioned in our 71w») that an addition of 1/30“‘, makes the 0w liable.
*If a ship can carry thirty 7X0, then the overload of 1/30™ is one 7ixo. See “Thinking it over’.

? See *"w" there MR 7",

* The xm there is discussing the ability to force feed animals, not how much they can carry.
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should be able to feed a camel at one time, even by force feeding him, an

amount of food which is equal to the load the camel can carry.’ Therefore we must
conclude that the load mentioned there, was only the camel’s food for the trip besides his load.

SUMMARY
A normal camel can carry a 712. The unusual camel carried a M3 food for the trip
besides the rest of its load.

THINKING IT OVER

nmoon deduces the ratio of 1/30™ for an overload, from the statement of X959 1.6
Seemingly n©o1n could have derived it from our mwn, which states that an
addition of three 1"3p for a donkey (which can normally carry a 0% [15 780 — 90
127]) makes the 72w liable. This is the same ratio of 1/30™. Why derive it from 27
X957?!

> A camel can certainly carry much more that he can eat at one time (even when force fed).
% See footnote # 3.
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